4.

AIEGRER (BRAEANIEEBRBE ISR L =R AR - B8R0

HAEICLDATHREPOM G 2 a5t )

(Rl rEcEHFEENS LIEEE
(ZIUIATEDD)

B £AH IR (%)

1] R2.3.19 30,000
it 30,000
(PIIFEDN)

B £A8H IR (%)
il R7t.11.15 30,000

5011 RIT.11.16 15,000

it 45,000
A7FTEN)

B £A8H IR (%)
XiE RJT.12.18 20,000
il R7T.12.18 30,000

it 50,000
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(ZIRAOEFER-15FH)
y:h 0 g yil 1 g y::l
R HEER B | BGRE(E) [FHARE (o) B8 (ke) |HEFEAB | MRB(E) FFHRKE(g) EE (kg)
2% RJT.11.20 3,000 41.0 123.0
= - R2.2.25 1,216 2220 270.0
ERIER R2.2.25 181 165.7 30.0
b )1 _E R R2.3.23 1,000 100.0 100.0
RJT.10.19 2,000 9.5 19.0
KiE R2.3.12 500 102.0 51.0
R2.3.27 500 110.0 55.0
(=13l RIT.11.1 2,500 19.0 47.5
< RJT.12.16 2,500 15.0 375
= R2.3.14 735 102.0 75.0
= SH8)I RIT.10.19 2,000 7.2 14.4
Fi 16,132 8224 0 0
(PROOEHA-15FH)
g 0 g yil 1 g y::l
B HEER B | BRE(E) [FHARE (o) 8 (kg) |HEFAB | MRH(E) FFHURKE (g) F= (kg)
R7C.11.16 8,500 16.0 136.0
2 R2.2.24 4,000 58.0 2320
R2.3.7 4,000 65.0 260.0
25| RJT.11.20 4,000 39.0 156.0
R2.2.10 4,000 56.0 224.0
Z50)I| R7T.11.16 2,000 16.0 32.0
ZH)IER R2.2.25 2,873 87.0 250.0
R3T.10.9 4,000 105 42.0
XiE R2.3.12 2,000 63.0 126.0
R2.3.27 2,000 65.0 130.0
< RIT.11.7 2,000 15.7 31.4
2 R2.3.17 1,500 66.7 100.0
EEH)I RIT.12.16 3,000 16.3 48.9
- R2.3.14 3,000 67.0 201.0
B Il£ 3 R2.3.23 7,000 2.0 14.0
FHE RJT.10.23 5,000 16.1 80.5
AR RyT.11.14 10,000 18.5 185.0
=S8 R7T.10.19 3,000 8.0 24.0
&t 71,873 2272.8 0 0
A7F0FH-15FH)
g 0 g yil 1 F yil
B HEER B | BGRE (B [FHARE (o) 8 (kg) |HEFAB | MRHE) FFHURKE (g) F= (kg)
2 R7T.11.23 5,000 16.2 81.0
eI RJT.11.20 2,000 45.0 90.0
Z50)I| R7C.11.16 2,000 16.0 32.0
- - R2.2.25 1,885 66.3 1250 | R2.2.25 608 246.7 150.0
ZRNIER R2.2.25 179 139.7 25.0
- R2.3.23 2,500 1.0 25| R2.3.14 1,000 100.0 100.0
B Il£ 3 R2.3.23 500 60.0 30.0
XiE R7T.10.19 1,000 12.6 12.6
< RT.11.7 2,000 14.8 29.6
2 R2.3.17 1,500 65.0 97.5
EEH)I RIT.12.16 3,000 17.0 51.0
FHE RJT.10.23 2,000 14.3 28.6
AR R7T.11.15 16,000 14.0 224.0
=S8 R7T.10.19 1,000 55 5.5
&t 38,385 719.3 3,787 365.0
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